UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

RS124

NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPV'D, TETRA
‘5 Tiptiptap OU
T = = ouU Veetorni 9, MATERIAL: A
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, p|GS1’IC A4
75301 Harjumaa
WEIGHT: | SCALE: 1:17 SHEET 1 OF 8




1

Foundation and safety area

1598

! Ay B
N N N A
S ‘
o \') '
@)
N ] ) X P
\ 2 2
3 ' |
N
A O——p— !
D C
Y
949 | 649 |
4696 _
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM RS124
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPV'D) TETRA
‘5 Tiptiptap OU
T 1 H ou Veetorni 9, MATERIAL: -
TX{’P TI ptlptap JUri alevik, R‘Qe vald, wood, metal, plastic A4
75301 Harjumaa WEIGHT: | SCALE: 1:35 SHEET 2 OF 8




b4 —" o - I
R AN
. b oy =
/. ¥ ° =l
S : - 2
-@ i
S S 2
@ o e
® . g“
S Y 0 |
. : ) ; H H 1
i
Q R
Ground
. 1696 _
] [
i
(e8]
o ° o~
L
] 5 S
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE IN KLOGRAMM RS124
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPV'D) TETRA
‘5 Tiptiptap OU
T 1 H ou Veetorni 9, MATERIAL: -
TX{’P TI ptl ptap JUri alevik, R‘Qe vald, wood, metal, plastic A4
75301 Harjumaa WEIGHT: | SCALE: 1:30 SHEET3 OF 8




D

Details

1

Sk
ITEM NO. PART NUMBER Description

] Post A Laminated wood 98x98x1550
2 Post B Laminated wood 98x98x1550
3 Post C Laminated wood 98x98x1550
4 Post D Laminated wood 98x98x1550
5 Beam A Laminated wood 98x98x1500
6 Beam B Laminated wood 98x98x1500
7 Beam C Laminated wood 98x98x1500
8 Beam D Laminated wood 98x98x1500
9 Climbing wall Plywood, 1500x1500mm
10 ladder PP covered steel wire with plastic rung
11 Climbing rope PP covered steel wire
12 Climbing net PP covered steel wire

UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:

WEIGHT ARE IN KLOGRAMM RS124

APPVD TETRA

Tiptiptap OU
Veetorni 9,

", o ..
-E&P Tiptiptap® o cicvic. Rae vaa,

MATERIAL:

wood, metal, plastic

A4

75301 Harjumaa

WEIGHT: | SCALE: 1:32

SHEET4 OF 8




1

Climbingwall

5
6
ITEM NO. PART NUMBER Description

| Corner 90° Galvanized steel
2 bolt DIN603 M10x30 galvanized steel
3 nut cover M10 nut cover M10
4 nut DIN985 M10 galvanized steel
5 nut cover cap M10 PE plastic
6 metal screw DIN 7380 M8x460 galvanized steel
7 washer M8 galvanized steel
8 barrel nut M8 galvanized steel

UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:

WEIGHT ARE N KLOGRAMM RS124
NAME SIGNATURE DATE REVISION

DRAWN R.Fedotov 2.06.2015 DESCRIPTION:

APPVD TETRA

Tiptiptap OU
Veetorni 9,

", o ..
-','.;E,P Tiptiptap® o cicvic. Rae vaa,

75301 Harjumaa

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:9

SHEET5OF 8




1 2

Fixing plywood

P 1
@
<~ 2
® [©]
(C]
© 3
(
‘
(Co
)
€]
ITEM NO. PART NUMBER DESCRIPTION
] nut cover M10 nut cover M10
2 wood screw DINS71 10x80 galvanized steel
3 nut cover cap M10 PE plastic
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOGRAMM RS124
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPV'D TETRA
T"P' T- t- t ou Tl\F/)gg’;rgr%|09,U MATERIAL: .
TA’%P IPUPTAP o alevik, Rae vaid, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:9 SHEET 6 OF 8




Fixing net and rope

1

A
B
C
D
E
ITEM NO. PART NUMBER DESCRIPTION
1 nut cover M10 nut cover M10
2 nut DIN985 M10 galvanized steel
3 nut cover cap M10 PE plastic
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM RS124
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPV'D TETRA
F Lo ..
T"P‘ T- t- t ou TI\F/Dgg’rTngr)“(g,U MATERIAL: .
T"\I%P IPUPTAP o alevik, Rae vaid, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:8 SHEET 7 OF 8




®
RE ®\ :4 6
®
, (@)
|
4 6
B
c 6 \2&1 2
@\‘\@\:; Fy s\j :
W R
6 5 3 N 5
D 6 D
//
ITEM NO. PART NUMBER DESCRIPTION
1 barrel nut M10 galvanised steel
: 2 bolt DIN603 M10x120 galvanized steel
3 nut cover M10 nut cover M10
4 bolt DIN931 M10x150 galvanized steel
5 nut DIN985 M10 galvanized steel
6 nut cover cap M10 PE plastic
DIVENSIONS ARE N MILLIVETERS PARTNUMBER /WG NO:
WEIGHT ARE IN KILOGRAMM RS] 24
NAME SIGNATURE DATE REVISION
DRAWN R.Fedotov 2.06.2015 DESCRIPTION:
APPVD TETRA

Tiptiptap OU
Veetorni 9,

", o ..
-','.;E,P Tiptiptap® o cicvic. Rae vaa,

75301 Harjumaa

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:12

SHEET8 OF 8




	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3

	Sheet3
	Drawing View4
	Drawing View5
	Drawing View6

	Sheet4
	Drawing View7

	Sheet5
	Drawing View8

	Sheet12
	Drawing View43

	Sheet11
	Drawing View42

	Sheet10
	Drawing View41


